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4. "����/� ���" ��0�/� ������/ ��� ��/� ��"� ���/, 
����%����/� ��/ �&���� ������, #�����, ���/��� 
#@>F54C@0 >F5=820=8O 7=0=89, C<5=89, 2;045=89 ?> 48AF8?;8=5 2:;NG05B 

CG5B CA?5H=>AB8 ?> 2A5< 2840< 70O2;5==KE >F5=>G=KE A@54AB2. 
#> >:>=G0=88 >A2>5=8O 48AF8?;8=K ?@>2>48BAO ?@><56CB>G=0O 0BB5AB0F8O 

2 2845 70G5B0, GB> ?>72>;O5B >F5=8BL A>2>:C?=>ABL ?@8>1@5B5==KE 2 ?@>F5AA5 
>1CG5=8O :><?5B5=F89. #@8 2KAB02;5=88 8B>3>2>9 >F5=:8 ?@8<5=O5BAO 10;;L=>-
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?>A;54CNI59 >F5=:>9 A0<>AB>OB5;L=> CA2>5==KE 7=0=89 =0 M:70<5=5. 
4.1. �0GёB 
4.2. �>=B@>;L=0O @01>B0  



  8 

 �!�%&�$%&�" !�'�� � �/%,��" "�$��"��!�/ $"%%��%�"� 
(���$�*��  

(���$��0!"� �"%'��$%&��!!"� ��&"!" !"� "�$��"��&��0!"� '+$����!�� �/%,��" "�$��"��!�/  

« ! 0 F 8 > = 0 ; L = K 9  8 A A ; 5 4 > 2 0 B 5 ; L A : 8 9  O 4 5 @ = K 9  C = 8 2 5 @ A 8 B 5 B  « �(� »  

�1=<=E><= <=EF<FGF 0F><=>= э=еDгеF<>< –  
H<?<4? H989D4?PAB7B 7BEG84DEF69AAB7B 46FBAB@AB7B B5D4;B64F9?PAB7B GGD9:89A<я 6OEH97B B5D4;B64A<я 

«�4F<BA4?PAO= <EE?98B64F9?PE><= я89DAO= GA<69DE<F9F «�ИФИ» 

(ИА&Э �И/' �И(И) 

�"������� !�&���0��-1������'�!��% ��#� 

!0?@02;5=85 ?>43>B>2:8 38.03.05 �87=5A-8=D>@<0B8:0 

"1@07>20B5;L=0O ?@>3@0<<0 «IT-8=D@0AB@C:BC@0 >@30=870F88» 

�8AF8?;8=0 «�5;>2>9 8=>AB@0==O9 S7O:» 

��'�"�/� ����" №__ 

1. �5:A8:>-3@0<<0B8G5A:89 B5AB. 
2. #@>5:B-?@575=B0F8O ?> >4=>9 87 B5< CG51=>9 ?@>3@0<<K. 
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�040=85 1. �5:A8:>-3@0<<0B8G5A:89 B5AB 

Sales and negotiation. Choose the best word to fit the gap. 

1. Neither the customer nor the salesperson wants to feel & over a deal. 

a. checked b. changed c. cheated d. charged. 

2. The retailer was allowed to order the goods on a sale or & basis. 

a. return b. revert c. restore d. retract. 

3. The service engineer was & to guarantee the work for six months. 

a. granted b. conceded c. accepted d. prepared. 

4. It was agreed that the full cost would be refunded if the goods were returned in 

perfect & . 
a. condition b. state c. situation d. shape. 

5. We are willing to supply the goods & a discount of 5%. 

a. in b. after c. at d. over. 

6. Before negotiating a deal make sure you know the strengths and weaknesses of & 
products. 

a. competing b. conflicting c. commanding d. connecting. 

7. A good salesperson can & almost anybody to buy anything. 

a. satisfy b. appeal c. persuade d. adapt. 

8. Once they had agreed terms the deal was pushed & very quickly. 

a. over b. through c. in d. by. 

9. The goods will be delivered by Wednesday at the & 

a. last b. longest c. least d. latest 

10. The most effective sales technique is one which tells the customer how the product 

will & him or her. 
a. better b. improve c. profit d. benefit. 

�040=85 3.  >;520S 83@0 

Work in group of three. Allocate the roles of the Counterpart 1, the Counterpart 2 and 

the Interpreter. Imagine that there is a negotiation process. Role-play the situation. 

Counterparts should negotiate on their native language and interpreter should perform 

his/her role and interpret from/into Russian/English. 

Situation 1 

Michael Brown: Good afternoon, Mister Smirnov! I’m very glad to see you! You are 

looking well, I can say. How are you? 

�<8B@89 !<8@=>2: #@5:@0A=>, A?0A81>. � :0: �K ?>68205B5? 
��: I’m fine, thank you. I always feel well in cool weather like this. And also I’m glad 
to visit the beautiful city of Moscow again. So, shall we get down to the business? 

�!: �0, :>=5G=>. / =045NAL, �K 3>B>2K ?@>4;8BL =0H :>=B@0:B, =5 B0: ;8? 
��: That’s right. For one year more. 
�!: �0A CAB@0820NB =0H8 >1KG=K5 CA;>28O ?>AB02>: 8 ?;0B5659? 
��: Yes, quite. But honestly, I have come here to talk about the price. I would like to 

say that the volume of business in the construction industry in England has increased. 

This affected the prices of a number of construction materials. In this situation we 

expect you to bring down your prices for cement. 
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�!: / ?@5:@0A=> ?>=8<0N A;>682HCNAO A8BC0F8N, => 1>NAL, GB> MB> 
=54>AB0B>G=0O ?@8G8=0 4;O A=865=8O 8<5NI59AO F5=K. �K 65 ?>=8<05B5, GB> <K 
=5 15@5< F5<5=B 87 2>74CE0. ' =0A, ?><8<> ?@>G53>, 5ABL 70B@0BK =0 
B@0=A?>@B8@>2:C, 0 2 MB>< 3>4C B0@8DK C25;8G8;8AL ?>GB8 2B@>5. 
��: Yes, I see. But may I draw your attention to the fact that we are going to increase 

the purchases by a few thousand tons if you could kindly offer us reduction of the price. 

�!: � <>5<C >3@><=><C A>60;5=8N, <8AB5@ �@0C=, <K 1C45< =5 2 A>AB>O=88 
>@30=87>20BL :0:85-;81> 4>?>;=8B5;L=K5 ?>AB02:8 70 @C156, ?>A:>;L:C 2 MB>< 
3>4C <K ?;0=8@C5< @50;870F8N 1>;LH53> :>;8G5AB20 AB@>8B5;L=KE ?@>5:B>2. 
�@><5 B>3>, <K C65 A2O70=K :>=B@0:B=K<8 >1O70B5;LAB20<8 A 4@C38<8 
?0@B=5@0<8, :>B>@K5 B0:65 C25;8G8;8 >1J5< ?>AB02>:. 'G8BK20O 2A5 MB8 
>1AB>OB5;LAB20, <K <>65< ?@54;>68BL �0< B0:85 65 CA;>28O, =0 :>B>@KE <K 
@01>B0;8 @0=55. 
��: Mister Smirnov, we have been in business with you for a long time. Also we have 

doubled our purchases over the past year. Therefore we would be grateful to you if in 

view of all this you could reduce the price. 

�!: )>@>H>. / 4C<0N, <K <>3;8 1K C<5=LH8BL F5=C =0 5 % 70 :064CN BKAOGC 
548=8F B>20@0. 
��: That’s fine. I appreciate you so much for your understanding. 
Situation 2 

�=B>=8=0 �=B>=>20: �>1@K9 45=L, <8AA8A %<8B. �573@0=8G=> @040 2845BL �0A 
A=>20. �0: �K 4>1@0;8AL? 

Rebecca Smith: Oh, it was exhausted trip because of the snow and traffic-jams, but 

nevertheless I’m so happy to be here today. 
��: �0<5G0B5;L=>. !C GB> 6, O 4C<0N, <K =5 1C45< B5@OBL 2@5<O 8 A@07C 
?@8ABC?8< : >A=>2=><C 2>?@>AC =0H59 A53>4=OH=59 2AB@5G8. �K =5 2>7@0605B5? 

RS: Yes, let’s get straight to the point. 
��: �K E>B8B5 >1AC48BL =0H =>2K9 :>=B@0:B? 
RS: That’s right. Have you seen our latest price-list? 

AA: �0, <K C65 CA?5;8 A =8< >7=0:><8BLAO. � F5;>< =0A 2A5 CAB@08205B, >4=0:> 
5ABL >48= ?C=:B, :>B>@K9 2K720; C =0A =51>;LH>5 =54>C<5=85 – MB> 42C:@0B=>5 
C25;8G5=85 F5=K. % G5< A2O70=> B0:>5 =5>6840==>5 87<5=5=85? 

RS: Well, you should try to see the price from our point of view. Over the past half a 

year our government had increased prices for yarn and our cloth suppliers had had to 

grow their prices too. Therefore we had to increase the final price for clothes. 

AA: �0, <K ?>=8<05< MBC A8BC0F8N, => B5< =5 <5=55 20H8 F5=K :06CBAO =0< 
>G5=L 2KA>:8<8.  K A>B@C4=8G05< A �0H59 :><?0=859 C65 >G5=L <=>3> ;5B, 
20H0 >45640 ?>;L7C5BAO >3@><=>9 ?>?C;O@=>ABLN A@548 <>;>4ё68, 8 8<5==> 
?>MB><C <K =045O;8AL, GB> �K ?@54;>68B5 =0< ;CGH85 CA;>28O. 
RS: I suppose if you could accept new deliveries of accessorizes in addition to you 

usual orders in this year, we would reduce the price by 3%. 

AA: 1B> 70<5G0B5;L=>, =0A CAB@08205B B0:>9 :><?@><8AA. �>;LH>5 �0< A?0A81>. 
RS: Are you satisfied with the new terms and conditions of our contract? 

AA: �0, 2?>;=5. 
RS: So, I think we can start signing up our contract. 
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�040=85 4. �5;>2>5 ?8AP<> 

You have received an email about one of the problems below. Write an email in 

response, explain the cause of the problem and promise action: 

1 A customer ordered a computer from your online shop. The delivery arrived on time 

but some of the components are missing. 

2 You run a private language school. A yoga group uses one of your rooms every 

Wednesday evening. They have received a bill even though they paid for this month 

two weeks ago. 

3 Your company sells high quality cakes. One of your customers recently ordered a 

birthday cake for their 90-year-old grandmother. When the cake was delivered it had 19 

on it. 
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$01>B0 ABC45=B0: 
- 45<>=AB@8@C5B 3;C1>:>5 8 ?@>G=>5 CA2>5=85 <0B5@80;0, 
2:;NG5==>3> 2 @01>GCN ?@>3@0<<C 48AF8?;8=K; 

- 45<>=AB@8@C5B >B;8G=>5 2;045=85 ?>=OB89=K< 
8=AB@C<5=B0@85< 48AF8?;8=K; 

- 45<>=AB@8@C5B =0;8G85 C<5=89 A0<>AB>OB5;L=>9 @01>BK A 
8=>O7KG=K< B5:AB><; 

- 45<>=AB@8@C5B =0;8G85 C<5=89 A0<>AB>OB5;L=>9 @01>BK A 
;8B5@0BC@>9; 

- C:07K205B =0 A?>A>1=>ABL 45;0BL 2K2>4K ?> ?@54;>65==><C 
4;O 87;>65=8O <0B5@80;C. 

«)>@>H>» 
30-35 10;;>2 

$01>B0 ABC45=B0: 
- 45<>=AB@8@C5B 4>AB0B>G=> ?>;=>5 7=0=85 <0B5@80;0, 
2:;NG5==>3> 2 @01>GCN ?@>3@0<<C 48AF8?;8=K; 

- 45<>=AB@8@C5B 4>AB0B>G=> E>@>H55 7=0=85 >A=>2=KE 
B5>@5B8G5A:8E ?>=OB89 48AF8?;8=K; 

- 45<>=AB@8@C5B C<5=85 ?>A;54>20B5;L=>, 3@0<>B=> 8 ;>38G5A:8 
AB@>9=> 87;030BL <0B5@80;; 

- 45<>=AB@8@C5B A?>A>1=>ABL >@85=B8@>20BLAO 2 ;8B5@0BC@5; 
- 45<>=AB@8@C5B C<5=85 45;0BL 4>AB0B>G=> >1>A=>20==K5 
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8=AB@C<5=B0@85< 48AF8?;8=K; 
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- 45<>=AB@8@C5B =57=0=85 7=0G8B5;L=>9 G0AB8 ?@>3@0<<=>3> 
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- 45<>=AB@8@C5B :@09=5 A;01>5 2;045=85 ?>=OB89=K< 
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- 45<>=AB@8@C5B =5C<5=85 45;0BL 2K2>4K ?> ?@54;>65==><C 
4;O 87;>65=8O <0B5@80;C. 

 



  13 

 �!�%&�$%&�" !�'�� � �/%,��" "�$��"��!�/ $"%%��%�"� (���$�*��  
(���$��0!"� �"%'��$%&��!!"� ��&"!" !"� "�$��"��&��0!"� '+$����!�� �/%,��" "�$��"��!�/  

« ! 0 F 8 > = 0 ; L = K 9  8 A A ; 5 4 > 2 0 B 5 ; L A : 8 9  O 4 5 @ = K 9  C = 8 2 5 @ A 8 B 5 B  « �(� »  

�1=<=E><= <=EF<FGF 0F><=>= э=еDгеF<>< –  
H<?<4? H989D4?PAB7B 7BEG84DEF69AAB7B 46FBAB@AB7B B5D4;B64F9?PAB7B GGD9:89A<я 6OEH97B B5D4;B64A<я 

«�4F<BA4?PAO= <EE?98B64F9?PE><= я89DAO= GA<69DE<F9F «�ИФИ» 

(ИА&Э �И/' �И(И) 

�"������� !�&���0��-1������'�!��% ��#� 

!0?@02;5=85 ?>43>B>2:8 38.03.05 �87=5A-8=D>@<0B8:0 

"1@07>20B5;L=0O ?@>3@0<<0 «IT-8=D@0AB@C:BC@0 >@30=870F88» 

�8AF8?;8=0 «�5;>2>9 8=>AB@0==O9 S7O:» 

 

�><?;5:B 7040=89 4;S :>=B@>;P=>9 @01>BO 
 

"5<0: �@5<5=0 0=3;89A:>3> 3;03>;0 2 459AB28B5;P=>< 70;>35. "8?O 2>?@>A>2 

1. #5@52548B5 ?@54;>65=8O =0 0=3;89A:89 O7K:. 
2. �AB02LB5 ?@028;L=CN D>@<C 3;03>;0, =5>?@545;5==>3> <5AB>8<5=8O, 
<>40;L=>3> 3;03>;0. 

3. !0?8H8B5 >1I85 8 A?5F80;L=K5 2>?@>AK : ?@54;>65=8O<. 
 

%>AB028B5;L                                                          ____________________  .�. �>O@A:0O 
(?>4?8AL) 

!0G0;L=8: >B45;5=8O 
A>F80;L=>-M:>=><8G5A:8E =0C:                         ____________________ �.�. �C7=5F>20 

(?>4?8AL) 
«__»__________ 20__ 3. 

 

  



  14 

�1@075F B5AB0 

� ����"�'�!��� "�!" 

С>ABа68B9;P М.И. Б>я@A:ая 

1. Choose the right tense (SIMPLE PRESENT or PRESENT 

CONTINUOUS). 

1. I see/am seeing Becky on Monday. 

2. She weighs/is weighing 100 kilos. She eats too much. 

3. Don’t disturb me. I listen/am listening to music. 

4. You look/are looking great. 

5. I think/am thinking he can drive a car. 

6. Laura has/is having two cars. 

7. I come/is coming from Spain. 

8. She tastes/is tasting vanilla ice cream. It’s delicious. 

9. He is/is being a very polite person. 

10. Why do you smell/are you smelling these cakes? 

2. Complete the sentences. Use the Past Simple Passive of the verbs in the 

box. 

invent   win   kill   ruin   steal   feed   invite   create   follow   speak 

1. They _________ by the police dogs. 

2. Where _________ English _________? 

3. The picture _________ from the museum. 

4. The buildings _________ by the fire. 

5. John Lennon _________ in 1980. 

6. The game of tennis _________ Andre Agassi. 

7. The bear cub _________ by the children. 

8. St Paul’s Cathedral _________ by Sir Christopher Wren. 
9. Jane _________ to the party. 

10. Television _________ by Baird. 

3. Put the verbs in brackets in the correct tense in the conditional 

sentences. 

1. If you _________ (go) to bed earlier you _________ (not feel) so tired. 

2. If I _________ (get) a promotion I _________ (not look for) another job. 

3. We _________ (have) plenty of time if it _________ (be) only 5 o’clock. 
4. If I _________ (be) very poor I _________ (be) upset. 

5. If it _________ (rain) I _________ (go) to see the races. 

6. If I _________ (be invited) to the yesterday’s party I _________ (go) there. 
7. If I _________ (know) her well I _________ (phone) her at home. 

8. If the theatre _________ (not be) so far we _________ (walk) there. 

9. I _________ (buy) a Jaguar if I _________ (be) rich. 
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10. If you _________ (come) to my place I _________ (show) you my shots. 

4. Fill in the blanks with can or be able in different tenses. 

1. When Carol’ve passed her driving test, she _________ hire a car from 

Jane. 

2. When the fog lifts we _________ see where we are. 

3. You’ve put too much in your suitcase you never _________ carry it. 
4. _________ you use the word processor? 

5. He _________ skate all day and dance all night. 

6. We _________ borrow umbrellas from the Smiths; so we didn’t get wet. 
7. I knew London so I _________ advise Betty what to see. 

8. If you had had the right tools _________you have repaired the fence? 

9. _________ I speak to Mr White, please? 

10. If I knew Greek I _________ tell you what this means. 
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